Bellwork  Hon Alg 2  Friday, April 28, 2017
Solve each. Round to the nearest hundredth where necessary.
1. 5(2.4)*+1 =173 2. Log,(x+12) =

3. 7% -8 =100

4. The population of a city is 750,000. The population has been decreasing 3.4% each year. In how
many years, to the nearest hundredth, will the population reach 500,0007

Bellwork  Hon Alg 2  Friday, April 28, 2017 /nl/')si/l/'EfLSj

Solve each. Round to the nearest hundredth where necessary.

1. 5(2.4)":1 —2'3‘ LAY c_(jl‘{‘l 2. Logx(x+12) =2 |
o log 244 KJ
(’L L()X s \ x‘z‘ = X412 }m
"’f X=3.95 —
s< = Y. \./ X+ —X—I1L =2
103 44 =X (¥ =) () =
2.4 X ;L"’"S
3. 7%83 -8 =100
Hr tE
LX*’;_ (08 |
| lo§ = 2X+5 log o3 2%+3 \ = =830
%5l Tog —

4. The population of a city is 750,000. The population has been decreasing 3.4% each year. In how
- many years, to the nearest hundredth, will the population reach 500,0007
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